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Question 3

@ f(-5)= 1)+ [ g(x)dc= 1)~ [ g(x)dx

a3 (9-3 =3 (-12) 22
Cao(ro-da)=ao(-12) -2

(b) JTg(x) dx = fg(x) dx + L6g(x) dx

= ."132 dx + ."362(x - 4)2 dx

2 3778 16 ( 2)
_ £y /RPN L N ) |
4+[3(x 4) L_3 + 3 3 0

(c) The graph of f is increasing and concave up on 0 < x < 1 and
4 < x <6 because f'(x)=g(x)>0 and f'(x) = g(x) is
increasing on those intervals.

(d) The graph of f has a point of inflection at x = 4 because

f'(x) = g(x) changes from decreasing to increasing at x = 4.
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Graph of g

3. UThe graph of the continuous function g, the derivative of the function f, is shown above. The function g is

piecewise linear for —5 < x < 3, and g(x) = 2(x — 4)2 for3 <x < 6.

@ If £(1) = 3, what is the value of f(—5)? _}‘(_,5): ,(] J3 q\ + ?)
A8 gb(\ {£5)=
{6 :ff g(é)c”: +3

§E5)={ (et +3
J65)= - (0 -3(DB)-(3)(3))+2
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3 .

0
t3

%<6

(6) Evaluate [ g(x) dx ' S’C Ve U +L-§' 2

9 9
y "l"‘ g 3(" S) beld [ ofaldx< 10 |
F ot e = ()(2) +§; 1T |
Foddwtls (3ol |
§ohldn= 4+ (3(8) - 301) |
|
| [gﬁflé?ﬂﬁgn:ﬁ;:% g ofl -14- Continue question 3 on page 15.
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(c) For —5 < x < 6, 0on what open intervals, if any, is the graph of f both increasing and concave up? Give a
reason for your answer.
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(d) Find the x-coordinate of each point of inflection of the graph of f. Give areason for your answer. A

30 ‘ﬁas 0 pofn‘} a{ i‘nﬂwkim or} X= Ll SinCe, g\&)—‘ 5(7(\ mJ |
Smee, 9 Switthes from M:ns 4 icreasing ot %Y | Hheefore
£(D=0 ot ot jpoint ond winld thomse iams From © 4 @ by,

Yo XU &5 an infeckion poi

Unauthorized copying or reuse of

. -15- GO ON TO THE NEXT PAGE.
any part of this page is iliegal.

© 2018 The College Board.
Visit the College Board on the Web: www.collegeboard.org.



¥
| 8' |
1 G }lr
6 {
L1 1S /!
) (I P [
) /
317
[] : ]
! = F *—L/ h x
-3-4-3-3 fO] 1234356
ul //;_2 T
i =31 i

Graph of g QC"D - Q‘CQ ?(}a = S s@Ax

3. The graph of the continuous function g, the derivative ®f the function f, is shown above. The function g is
piecewise linear for —5 < x < 3, and g(x) = 2(x — 4)2 for 3 <x<6.

| -
(@) If f(1) = 3, what is the value of f(-5) ? G 4 \A > %
2

L5at)ax = $(-£(9)
$-9) = 37 sq)dn
" 3B 106 @Y
3= IC1-R)

= a-BH%R) - 20} =2

6
(b) Evaluate L g(x) dx.

3? 3(.03& - ‘5(3}‘? S; %()3 dx
= 9% S;”L(,x-qY' Ax ?%
=R+ Lutda
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(c) For —5 < x < 6, on what open intervals, if any, is the graph of f both increasing and concave up? Give a
reason for your answer. AR \”6 {ﬂ P 05
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(d) Find the x-coordinate of each point of inflection of the graph of f. Give a reason for your answer. a
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3. The graph of the continuous function g, the derivative of the function f, is shown above. The function g is

piecewise linear for =3 < x < 3, and g(x) = 2(x — 4)2 for3<x<6.

O\ = 9 Ox)

(a) If £(1) = 3, what is the vaiue of f(—5) ?

z
SO = 20w~

5
{ QR
__—\-‘-

SO0 =

35
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(-5 - 2o

(b) Evaluate LG g(x) dx.

S\q ) dvx
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(c) For —5 < x < 6, on what open intervals, if any, is the graph of f both increasing and concave up? Give a
reason for your answez.
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(d) Find the x-coordinate of each point of inflection of the graph of f. Give a reason for your answer.
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AP® CALCULUS AB/CALCULUS BC
2018 SCORING COMMENTARY

Question 3
Overview

In this problem the graph of the continuous function g is provided; g is piecewise linear for —5 < x < 3, and

g(x)=2(x- 4)? for 3 < x < 6. Itis also given that g is the derivative of the function f. In part (a) students were
given that /(1) = 3 and asked for the value of f(—5). A correct response should demonstrate knowledge that 1 is

-5 -5

an antiderivative of g, so that f(-=5) = f(1) + L g(x) dx. The integral '[1 g(x) dx should then be evaluated

using properties of definite integrals and computation of areas of the regions between the graph of g and the x-axis
6

using geometry. In part (b) students were asked to evaluate L g(x) dx. A correct response should use the property

of integrals to split the interval of integration into the sum of integrals across adjacent intervals [1, 3] and [3, 6].
One of the resulting integrals can be computed using geometry and the other using an antiderivative of
g(x)=2(x- 4)2 on the interval 3 < x < 6. In part (c) students were asked for the open intervalson -5 < x < 6
where the graph of f is both increasing and concave up and to give a reason for their answer. A correct response
should demonstrate the connection between properties of the derivative of f and the properties of monotonicity and
concavity for the graph of f. The graph of fis strictly increasing where g = f* is positive, and the graph of g is
concave up where the graph of g = /" is increasing. In part (d) students were asked for the x-coordinate of each

point of inflection of the graph of f and to give a reason for their answer. A correct response should convey that a
point of inflection of the graph of f occurs at a point where the derivative of f changes from increasing to
decreasing, or from decreasing to increasing. This can be obtained from the supplied graph of g = f’, which

changes from decreasing to increasing at x = 4.

For part (a) see LO 3.2C/EK 3.2C1, LO 3.2C/EK 3.2C2. For part (b) see LO 3.2C/EK 3.2C1, LO 3.2C/EK 3.2C2,
LO 3.3B(b)/EK 3.3B2, LO 3.3B(b)/EK 3.3BS5. For parts (¢) and (d), see LO 2.2A/EK 2.2A1. This problem
incorporates the following Mathematical Practices for AP Calculus (MPACs): reasoning with definitions and
theorems, connecting concepts, implementing algebraic/computational processes, connecting multiple
representations, building notational fluency, and communicating.

Sample: 3A
Score: 9

The response earned all 9 points: 2 points in part (a), 3 points in part (b), 2 points in part (c), and 2 points in

1
part (d). In part (a) the response earned the first point with the expression —I S g(#) dt inline 3 on the left. The
second point would have been earned by the numerical expression in line 4 with no simplification. In this case,

correct simplification to 11 + % earned the second point. In part (b) the response earned the first point with the

sum of the two integrals in line 1 on the left. The second point was earned with the antiderivative expression

(%(x - 4)3) in line 3. The second point would have been earned by the numerical expression in line 4 with no

simplification. In this case, correct simplification to 10 earned the third point. In part (c) the union of intervals
“(0,1) U (4, 6)” earned the first point. The second point was earned with the reason f'(x) = g(x), “g is

positive,” and “g is increasing on that interval.” In part (d) the first point was earned by identifying the
x-coordinate of a point of inflection at x = 4. The second point was earned with the reason f"(x) = g(x) and

“g switches from decreasing to increasing at x = 4.”
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AP® CALCULUS AB/CALCULUS BC
2018 SCORING COMMENTARY

Question 3 (continued)

Sample: 3B
Score: 6

The response earned 6 points: 2 points in part (a), no points in part (b), 2 points in part (c), and 2 points in part (d).
1

In part (a) the response earned the first point with the expression I S g(x) dx inline 1. The second point would

have been earned by the numerical expression in line 3 with no simplification. In this case, correct simplification

6
to 2—25 earned the second point. In part (b) the integral expression 3(3) + L 2(x) dx in line 1 did not earn the first

3 6
point because .[1 g(x) dx = 4, not 9. This response used substitution of variables to write L 2(x —4)* dx inan

equivalent form. The antiderivative in line 4 is incorrect, and the response did not earn the second point. As a
result of this error, the response is not eligible for the answer point. In part (c) the union of intervals

“(0,1) U (4, 6)” earned the first point. The second point was earned with the reason “ f'(x) = g(x) is positive”
in line 1 and “ f'(x) = g(x) is increasing” in line 2. In part (d) the first point was earned by identifying the
x-coordinate of a point of inflection at x = 4. The second point was earned with the reason “ f'(x) = g(x) has a
maximum or minimum (local).”

Sample: 3C
Score: 3

The response earned 3 points: no points in part (a), 1 point in part (b), 1 point in part (c), and 1 point in part (d). In
part (a) an integral expression is not presented nor is its numerical equivalent, so the first point was not earned.
The value given for f(—5) is incorrect, so the second point was not earned. In part (b) the response did not earn

6
the first point because '[1 g(x) dx is not written as the sum of two integrals or the equivalent. The second point

was earned with the antiderivative expression in line 2. Because the second point was earned, the response is
eligible for the third point. The answer is incorrect, however, so the third point was not earned. In part (c) the first
point was earned with the intervals “0 < x < 1 and 4 < x < 6.” Although “ /" is above the x-axis” is a valid
reason for why £ is increasing on those intervals, /' “has an increasing slope” is not a valid reason to explain
why the graph of f is concave up on those intervals. The second point was not earned. In part (d) the first point
was earned by identifying the x-coordinate of a point of inflection at x = 4. “The slope of f’ changes from
decreasing to increasing” is not a valid reason to explain why the graph of f has a point of inflection at x = 4, so
the second point was not earned.
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